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Questions 1toSmngmis.eg&LForeadtquesﬁon,fomopﬁonsmgivénQneofﬂmsc )
is the coﬁeqt answer. Choose the correct answer and write its number (1, 2, 30;:4}1::1]1@ _

1. ‘Wiish of the following hsmbess is the same as 5 anes-+4 hadreds +7 fons?
(1) 475 @) 547

@) 574 @ 745 ( )

2. SK4+37=§ 2
Whatisﬂiemi'ssingmin_ﬂicbokébofvc?

@ 521 @ 531
@) 7 @ 74 ( )
3. 399+32= | ?

What is the missing number in the biox abeve?

(1 431 @ 421
@) 61 @ 79 ( )
4.  6718—45= }-?

What is the missing number in the box above?
O 227 o) 228

@) 625 (4 633 ( )

s, 762-125=f 2 |
What is the_ﬁifssi'ngiimnbeﬁnﬁ)cbox above?

@ 232 {2). 637

(3) 643 @ o4 ( )
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-Questigns 6.1 18 carry 2 maiks each, Show your working clearly in thic space below esch
question and write your answers in the spaces provided. For questions which require- units,
give your answers in-the wirits stated. (Ii}matks)

6.  David has 275 masbles. -He buys another 35 marbles, How many marbles doés he
‘have now?

7. Ali is heavier than Ben. Don is heavier fhan Caili but lighter than Ben. Who is the
tightest child?

8. Andy,-Ben and Cindy are standing side by side in a row, waiting for a group
photograph to be taken. In how many ways can they arrange themselves?




9.  Tetry picked threemmber cards: 4,8 and 5. What was the smalfést 3-digit mumber he

>

Box B. Box. B contains 10 fewer beads than Box C. £ Box C has 20 beads, how many
beads are there inBoxA? -

Ik



Questions 1110 14 cany 3 maxkseachQqunslsmdlﬁcaxry4mmkseachAmwa
eachqu&etxonmthe space provided. Show your: working clearly as marks will be awarded.
for relevantﬂatenmtsandcen‘ect answers. (20 marks)

I3. Aini collected 10 more stickers than Gina. If Gina collected 731 stickers, how many
stickers dldAini collect"

12:  There are 169 boys in Primary 2. If there are' 68 ipore boys than giis in Primary 2,
“how manyglrlsarcthereml’mnary 2?




13.  Cailiis 101'em tall while David is 124 ci tilL. How riich taller i David than Caili?

P

14. During a Mathematics Practical Test, Jack has to weigh three iteiins. Thé masses of
. the items are recorded in the table below:

ltem Mass Of ltem
A packet of Cheese 125¢
" Aloaf of Bread T m5g
Asfin of Milo | ~ 5i5g

What is the total mass of the thiee items?



15. Mark hdd some stickers. He gave 225. stickess ‘to. his sister and jeceived 112 stickérs
from his fiiend. ¥ he had 489 stickers left, how miany stickers-did hie hitve at-first?




For Question 16; please auswer parts (a) and (b).

16. Peterwezghs%kg.Kmmthwgm&kgmcﬁ:mlm MichadandLeohavcﬂle
samemss.‘lhewtalmassof}?&tﬂrand Kennefhi is 70 kg

(ay What is Leo’smass?

(b) What is thetotal mass of the fourboys?

End of Paper
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Q1

Q2;Q3 |04 Q5

1

2i1141] 2

'6. 310 marbles

7. Caili

8. 6 ways

9. 458

10. 18 heads

11. 731 + 10 =741
Aini collected 741 stamps.

12.169—-68 = 101
There are 101 girls in Primary 2.

i3.124-101 =23
David is 23cm taller than Caili.

14. 125 + 225 = 350
350 + 575 =925
The total mass of the three items are 925¢g.

15. 489 -112 =377
377 + 225 + 602
Mark had 602 stickers at first.

16.70-39 =31
31x3 =93
93 + 39 = 132
a) Leo’s mass is 31 kg.

b) The total mass of the four boys is 132kg.
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